€55 T LMBLOERIKR

5 W = 0] 359, 097, 000 @

B8 GRS - EHEL) (B) 207, 875,273 H

= El (A) - (B) 151,221,727 H
_ __ ewm %

FEMBIRLAELE ZHHE BRE EEF T
DOITE B £t 204, 563, 000 57.0] 86, 196, 384
OFERE O L 2%48 - “LOEHBL3D 10, 029, 000 2.8 4, 234, 208
BT BT HLRHCHIIRETELELSKY 113, 668, 000 31.6| 47,786, 066
(DR D CIREICAIRE T 2 EH 3D 14, 788, 000 4.1 6, 200, 091
O T HAR - BT RB O 16, 049, 000 4.5 6, 804, 978
= &t 359, 097, 000 100.0[ 151, 221,727
_ _ (B : M)
B X 4 Ex R HHeFTHEHE

DETRICEEME 168, 401, 293 86, 196, 384
FHECKEr 2 — (REfE) & 57, 035, 561 21, 990, 643
5% & ERFAES ) REERBLE G 16, 335, 000 15, 335, 000
fEHEEER . O - g 49, 974, 005 14, 345, 014
AR AR TR Y 17,601, 100 8, 002, 100
LESHF OV MiBhE 5, 076, 620 5,076, 620
IR AR R 4,280, 574 4, 280, 574
SLERRE 4 3, 627, 092 3,627, 092
ANIVAT  THREE 2,936, 377 2,936, 377
REE R 2, 552, 421 2,552, 421
R R ER 2, 285, 750 2, 285, 750
INFRCE IR R T 1, 745, 340 1, 745, 340
{EENHE R 1, 300, 000 1, 300, 000
Iha - FLSh VAR S ER 783, 495 783, 495
D EEEENS 7 —B % 731, 500 731, 500
L EORFEY 4 — 7 FE 1, 202, 899 601, 899
Tavs KD LA FER 661, 559 330, 559
SR P SR A B & 272, 000 272, 000
QERLDHBBICLDRE - RODDEHLTICY 9,671, 586 4,234, 208
RFEEETVHBAR BT 6, 287, 400 2,379, 922
H VRN BRAR R i S 34 Bh 4 861, 600 861, 600
ERE GRS = 753, 500 753, 500
ER RS N Y53 198, 110 198, 110
2 BLELISDITRKES 32,076 32,076
)| BREEHE fif 353 1, 538, 900 9, 000
R@F L E-bABOMEETEZDIELTICY 105, 526, 628 47, 786, 066
HE R B E R 22, 664, 469 22, 664, 469
THE K EY 2 — (REfs) # 57,035, 561 8,574, 384
ICT3Z#% B i i 43 6, 463, 861 5,861, 861
EREE R AR E 3, 162, 363 3, 162, 363
HE LY —REFEE 2, 378, 308 2, 378, 308
AR - VL R R S 10, 001, 750 1, 845, 365
D OBEFRE FE 1,571, 700 1,571, 700
BWEFOHEFEE 554, 815 554, 815
N[ L E W AR R 495, 000 495, 000
il 1 & b FEE 782, 381 261, 381
IR E SRR 181, 500 181, 500
1o RS 7 A A - B A B 121, 836 121, 836
TR TH RS 113, 084 113, 084
@DERENBECIRBICEETEZDIELEICY 12,611, 496 6, 200, 091
BRAUEH L AT AEHRGER 2, 959, 000 2,959, 000
FHOHA 7, 490, 000 1, 379, 595
TEEI 7 I 1, 300, 000 1, 300, 000
[ e PN EUE =4 603, 996 302, 996
EHIEERE R — RS 178, 500 178, 500
WP ARVE IR D) S TR 0R 80, 000 80, 000
OFHER - EFEROBE 12, 676, 400 6, 804, 978
T3 AT SR B Al L= 3, 771, 900 2,024, 841
T3 R SR E S R L 2, 675, 200 1, 436, 108
LI BER SN T A = 2, 095, 500 1,124,912
T S R R Gk T 1, 540, 000 826, 707
T SR RSl e T 1,299, 100 697, 386
T8 bR A AR S EE e T 1,294, 700 695, 024
& = 308, 887, 403 151, 221, 727




